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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", Iopt] ['T, '"Topt’], ['RH', 'RHopt'], ['ETcl’, 'optETcl’], 'LAI', 'optEtRate’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]

7.0

6.8 1

6.6 -

6.4 -

6.2

6.0 -

arnfng: col ['PHC’, 'FVIPH'] is missing

10

20

30

40




Plot [['FVOPH:r-o’, 'PHO:g—o’]]

7.0

6.9 -

6.8 -

6.7

6.6 -

6.5 -

Warning: col ['FVOPH' ] ik missing

—— PHO

0 10

20

30

40




Trend plot forP3-9 0

minFVI
minFVO

Warning: col ['minFVlraw , 'minFVOraw’ ] is missing

® ETcAlraw o
——  ETcAl
—e— ETcA

"ETcA2raw’, '"ETcA2'] is missing

Warning: col ['ETcA2raw’, 'ETcA2avg’, 'ETcA2’] missing

4000

3500

3000

2500

2000

1500 ~

tte

1 1
ECopt
ECI
ECO
1
I
1
g o o _ B NG Y wl—0=0=0—U—0—0—0—0—0—0—0—-0—0—0—0—-0—0—0—0-—-0—-0-—0—
A ,Avnol

Y o 9009

Warning: col ["ECC’'] is missing

Warning: col ['PHC'] is missing

6.0
1 1 1 1 . 1 1
31.5 1 : —@— WCperM
1
1
31.0 + 1
1
1
1
30. 5 1
1
1
30.0-}ﬂ.-.—.hCP1Dﬂ.—.—lP4lﬂO-.—.hCP1Dﬂ.—.—lP4lﬂ.-.—.hCP1Dﬂ.—.—lP1Dﬂ.—.—.h1P*.ﬂ.—.h.h1P*.d.-.—.hCP1Dﬂ.—.—.h1P**ﬂ.—.h‘h1P*.d.-.—.h‘*ibﬂ.—.—.hli*bﬂ.—.hlhi
1
1
29.5 - :
1
1
29.0 - |
Warning: col [ WCperMraw', 'WCperMavg'] is missing :
28.5 1
1
1 1 1 1 . 1 1
0.50 0000000000 0000-0000000000000000000000000000000000000000000000000 00
1
1
1
0. 45 ~ i
1
1
1
0. 40 + 1
1
1 —@— minDeltaM
0. 35 : —@— avgDeltaM
: —0— stdDeltaM
0.30-}ﬂ.-.—.hCP4Dﬂ.—.—CP4lﬂO-.—.hCP4Dﬂ.—.—CP4lﬂ.-.—.hCP4Dﬂ.—.—CP4Dﬂ.—.—‘h1F*.ﬂ.—.h.h1F*Dﬂ.-.—.hCP4Dﬂ.—.—.h1F*+ﬂ.—.h‘h1F*Dﬂ.-.—.h‘ﬁibﬂ.—.—‘hli*.ﬂ.—.hﬂhi
1
1
0. 25 - |
1
1
. 20 9000000000000 0C0-0-CCC0-0-00C0-0-0C0-0-0-0000-0-0CCC0-0080- 0000000000000
0.20 1
1 1 1 1 . 1 1
30 -H—H+H+H+H+H+H+H+H+.—H—.—H+H+H+.—Q—.—H+H—?—H+H+H+H—.+ —@—  beg 1
: =@ maxM
98 : —&®— minM
1
1
1
i 1
26 I
1
24 1
1
1
1
22 :
1
1
1
20 -0 0000000000000 00CC0-00 0000000080000

adjFVOR

-0. 02 ~

—0. 04 ~

Warning: col ["adjFVIRraw', "adjFVIR, "adjFVORraw' ] is missing

FRA
FRC
FRraw
FR

60

58 -

56

54

52 A

50 A

48 ~

—@— beg wc

0 10 20 30 40 50 60

300 A

250 -

200 ~

150

100 -

50 A

postFgEtraw
postFgEtavg
postFgEt

tte




FgDaily




¥

PPFD

TTTTT
EEEEE




ESo ETclis ETcPT ETcP ETcldef ETcl

T PPFD | VN pVPD pR  ETbai ETol

RH

| |
ETcl ETcldef ETcP ETcPT ETclis ESo ETol ETbai  pR pVPD

1.0

0.8

0.6

0.4

-0.2

-0.0

--0.2

-0.4



RH

1500 - - .o’ ° - e * o - ° 'o. - ° - .:o
oo ® o e o O oo oo o @
1250 7 1 o ° i ®e i ¢ o 1 ® e 7 o
° ° ° °
1000 - . % . e - e ° : o
750 i ° ) ) i o .O PY i o Yo i ° O. o
° a ° °
o ° ° o ° o® % <,
500 ~ - & P - 5}. e o . 'O‘.. - Y ... &
° ° ° ° o0 ° °
i 4 ° 4 o | o i °
250 ¢ 00, © 0 0 © ° . i ° e © ..o
0 |o@ © P o 00 e ® O ° | «@ 1® 0o Fo%
T T T T T T T T T T T T T T
170 | ¢ o“. 1® o.: I 0.: | %%
1500 - 1 0?0 ° | %% e |e8® o o | *%¢
® ®eeg, ® o*° % % o o e ® & o % e &
) ) o0 )
® 00 0% v e ® ° % o ©° o = doe ©
1250 - i ° i ° i o 5
® '3 ° e ¢ o o ° e’ °
° ° ° ° .o ° °
1000 T ° ° T Y 1 e ° T o o
o o ° ° ° ° e o
750 + lTe [ ] T e © 1 e [ ] T ® [ J
° ° o © e © @
500 - . . . .
®e ® ® ) ® )
° ° ° °
250 - - T T T - T T T T T T T - T T T T
26 o ° § § ° 4 ° § °
24 . . . . .
® o ° ° S° o ° %
2215% o °® 1 o * Qo % o Do
Sﬁ'. [ ] ) ® :‘J... ) ...O. o0
2018 ¢ & © o ®o 07 % S 1 o o o
° e (] Py e 9o ° ® .J.
18 - o o ] o o ° i °
®) °® [ JPY ® o o
® o ° (1 ° o o o °
16‘ ... () o . ([ [ [ ] o N ® [ ] [ (] ()
° o e o A ° ° o
14 ) 1@ 4 o
° ° °
° ° °
12 T T T T T T T T T T T T
°® o° o ®
80 - : .
[ .. ® ([ o R Y [ . ®
° ° °
70 - ° ¢ o oo - ¢ ° % o - e %
e 8% o ° °® ¢ S ° °® *%e ©
® ® " ® ® Y ®
60 ) ® [ B o [ ® - o0
o o ¢
.6*:. .o’ e ° ‘..r.:.oo °e e .::..
501 ° %o - %, o0 1 * o8
(‘(o. o %G o. ° o"o
40 @ y ° 4 °
° ° °
° ° ° ° °
1500 - 1 : : :
: ° .o ° ¢ ° ° o ® ¢ ‘:
1250 ~ ® () b ® () 1 ° ® - ® ° 1 O.
1000 - . . . .
%o o° o0 & 0% oo ° ° ¢ & o o "%
o ' ° ° o o ° ° e o
> 750 : . . .
°® ° ° o ® ° ° ° °
500 - o ] ] ° ] o® i °
?.o‘. ¢ *® oo o * .O.o & y y .'6
° ° ° ® °
250 - R 4 L e o L oa ® 4 o L - o . e
ROR % ° ° : ° ° o o: :. o o000 ° ° «® . ° o). °®
0- Qo | o0 o % $e |0 ° S 0% ¢ ® o ®C® i oo %%
400 ° T 5 7 ° 7 ° T ° 7
] %e ® o LY Y o o® @ ® o
° ~o.'o o ° o.o oy .o oo ° < o ° ',o ° °
3501 @e® o ¢ © ® o® | o} % ®° ¢ & % (%0000 o® o o 19se ®_© oo oo ]
H ° A ot% 9 o9 ® e o °¢ % ® A
300 % % ° ¢ .3 ° ¢ ’:?3 ° * o‘.o. g . © .o:° Ce ) ° ¢ °
- . - - - . -~ -
o ° P ° P o: @ ° s.o ° o7 ° ® o ° P °
250 - . . . . .
° ° ° ° °
) ® o ¢ ° °® S
2001 @ ° Y R CJ ° 41 @ [ ) ™) - ® o o 1 @ © ° E
150 - . . . . .
° ° ° ° °
100 - : . . : .
° ° ° ° °
1l e ] e ] ° i ° 1 o ]
50 T T T T T T T T T T T T T T T T T
0 500 1000 1500 500 1000 1500 15 20 25 40 60 80 0 500 1000 1500 100 200 300 400

ETcl ETol T RH VN |



3000

® obs
2500 - Fit
2000
1500 "
O
1000 - Il
'Hi" 0
Hi®
500 - '
tu q
W NG
o &
T T T
0 50 100 150
baiA baiB
0.9782 0. 0285
1.0
0.8 -
0. 6 -
0.4 -
0.2 -
0. 0 T T T T
0.0 0.2 0.4 0.6 0.8 1.

obs

1600 A

1400

1200 ~

1000 ~

800 ~

600 -

400 ~

200 -

Fit vs obs: a=1.12, b=-160.56

r=0. 92

1.0

T T
500 1000

Fit

T
1500

0.8 -

0.6 1

0.4 -

0.2 -

0.0

0.0

0.2

0.4 0.6 0.8

1.0



hour

:15

:00

145

125

:05

:50

:35

125

:10

100

80

- 60

- 40

@ .
‘*@»
@ -
N
>
\%,%
@%%
z&@(

EN
2y
&
‘HlEEEEE B

T

o
-



P3-9

BfiE) | GEBIETIC (F)) | EHME (BAH/K) | XS ERE

07:55 294 150.0 1] BRi%@07:55 B3zh (REERESE)
08:00 294 150.0 | & iR1%@08:00 Bzl (ARFEREE)
09:20 294 150.0 | = B21%@09:20 B3h (kBIEREE)
10:15 294 150.0 | = BRi%@10:15 Bzh (REERESE)
11:00 294 150.0 & BRi%e11:00 Bz (RAERESE)
11:45 294 150.0 5 BRi%@11:45 B3h (KRAHERESE)
12:25 294 150.0 5 BRig@12:25 Bzh (RPERESE)
13:05 294 150.0 5 Ri%e13:05 Bz (RAERESE)
13:50 294 150. 0 = RRi%@13:50 Bz (RAEAERSE)
14:35 294 150.0 5 BRike14:35 Bz (REHERSS)
15:25 294 150.0 5 Ri%e15:25 Bz (RAERSE)
16:10 294 150. 0 B[ #iTHe16:10 Bz (REERSS)
24t 3528.0 (12)%) 1800. 0 32 KEC: 2080.0, PH: 6.0

HERRHEME STEAERTS (191.0 : 147.0), AIgERF—RE XAH45
BRI\ SEBRIERE147.0 ml. _
FERERREC (2660.0) 5i&7EEC (2000.0) RERK, HH/E



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-9_0, Day=47.0 (2025-05-19)

150 A

100 A

50

200 -

150 ~

100 ~

50 A

1.0

VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2101

1560 617
1200
28

60
00

FRV

- 2000

- 1000

0.8 A

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

200 -

100 -

0 -
300

Bylnit @47 16:05: ET=1509 Fg=1923.0 Ro=456.0

- 2000

- 1000

—— e — —
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

200 -

100 -

300

015 1!72

2|25 || W [ BB | 5 [ B |85 | [ | B [R5 [BF | B5 | RS | BE | fs [ MBS | BE | f5 | AR | BE | R [ BB

ByEt @47 15:37: ET=1749 FEg=1917.0 Ro=nan I *——o—@ —o

- 2000

- 1000

3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

200 -

100 -

1.0 A

%%z |%=| A | A | A | A | A |25 |25 |Za| B [ [ B [ B [ B [ [ [ [ | ||| H

ByWoFv @D47 16:05: ET=1318 Fg=1800. 0 Ro=487.0 e— oo

- 2000

- 1000

21 22 23

0.8

0.6

0.4+

0.2~

E3 E3 ES
B B 5]

0.0

800 4
600 -
400 -

200 -

. "PPFD_obs’] is missing

\ A A WarRing:K:ol

38

25 -

20 A

15 A

10

ning: col ['T _obs”” 'To obs’'] is missing

90

80 A

70

60 -

50 A

—— RH Warning: col ['RH obs’, 'RHo obs’] is missing

hour

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



hour

100

~

w

ol
I

80

- 60
10:05

11:25 | 40
12:35

13:50

14:40

§_

2

%,
%

: ‘*@»
%
.

)
-

zé?e. O

T



P3-9

BfiE) | BRI (FD) | EE (EH/AR) | XK R

07:45 300 150.0 BE| 1Ri&e07:45 Bz (REAEES)
08:25 300 150.0 & =| 1Ri%e08:25 Bz (KAEREEE)
10:05 300 150.0 & =| 1Ri%@10:05 Bzh (RAHERESE)
11:25 300 150.0 =l RiBe11:25 Bz (REAKEEE)
12:35 300 150.0 E| {Rige12:35 Bz (RE{ERSE)
13:50 300 150.0 |Z=| 1Ri%@13:50 Bzh (RAHEREE)
14:40 300 150.0 (& =| 1BRiB@14:40 Bzh (REERESE)
23t|2100.0 (70%) 1050. 0 3EHKEC: 2080.0, PH: 6.0

FEREHERE STEELRF (195.0

2RI\ EPRERE150. 0 ml.

# 8] /KECZE (2665. 0 vs 3600.0) RS

150.0), FAIEEHT—@E XAH5

FEREEBEC (2665.0) 5i&EEC (2000.0) RERK, BH/E




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-9_0, Day=46 (2025-05-18)

T e g g e S S B S g

VI, VOFRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 1990 o
100 41100 090 1200 200
48 1000
50 A 60 - 500
118 Warning: lcol [FVI',| "FVO’'] missing
04 r0
(¢ —_ ME P
200 - maxM T 45
_______ "
100 - 40 =
1o - 35
' 4
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=6.0 N
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
%01 Byinit @47 16:05: ET=1645 Fg=2250.0 Ro=590.0 : 3000
1
200 ~ ® ® ® ® * ® - 2000
,/./\/ -

100 1 I I 1 - 1000
O—l;’ - ”ll ¥¥ 0
300 4 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 3000
i | B |Z=| BH | B | G| BB | BE | BE | B i 5 5 5 i 5 | FH | B | FA 5 5 5 i 5

1
200 - ByEt @D46 18:59: ET=1147 Fg=1176. 0 Ro=nan : | 2000
1
1
100 - —— - *4 £ —28—2 |00
S
0 28— S R R 0
300 4 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 3000
B | B |2z H | B | B|B| B I|Z2=|25|25]| B ERE A E R E AR E A EREA EE A E A EREEEAEES
1
900 4 ByWoFv @D47 16:05: ET=848 Fg=1050.0 Ro=283.0 i | 2000
l
100 - - 1000
S
MY e —— ' S R R o
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
08 B s |lZ=z| A | B | B | B| B |2x|2=2Z5]| B ERE A E R E AR E A ERE EE A E A EREEEAEES
0.6 -
0.4 1
0.2 A
1806 3

—_— 4
[ ] | _obs
—@— PPFD obs

RHo obs

2.04 o ® ® P

hour

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=435, FV0=0 m=485, FV0=0 m=585, FV0=0

46 —@— M_E 391 —e— ME 4204 —® ME —— ME
43.0 1
44 ]
28 - 4.5
42.5 -
42 41.0
40 - 371 40.5 - 42.0 -
38 36 40.0 7 41.5 -
%07 e 41.0
T T T T 35 L T T T 39 0 - T T T - T T T
400 600 800 1000 435 440 445 485 490 495 585 590 595
m=670,m FV0=0 m=740,m FV0=0 m=805,m FV0=0 m=885,m FV0=0
0 46.0
—o— ME 45 —o— ME —o— ME 46.01+ —@— ME
5 4 45.5 -
' 45.5 -
45. 0
. 0 T 44 n 45 0 N
44.5 - i
.51 44.5
43 44.0 44.0 -
.07
43.5 43.5 -
' 5 L T T T 42 B T T T T T T T T T
670 675 680 740 745 750 805 810 815 885 890 895
m=935,m FV0=0 m m=435,m FV0=0 m=485,m FV0=0
57 —o— ME —o— MW e 400 - —o— MW
40
0 i
37 4 39.5
38 -
5 - 36 - 39.0
36 -
0 35 - 38.5
T T T 34 _I T T T T T T T T T
935 940 945 400 600 800 1000 435 440 445 485 490 495
m=585,m FV0=0 m=670,m FV0=0 m=740,m FV0=0 m=805,m FV0=0
97 —— MW | 45 —o— MW —o— MW | 41.01 —— MW
‘ 40. 5
.0
40. 0 - 40.5 A
40. 0 1
.51
39.5 40. 0 1
0 39.5
: 39.0 39.5
39.0
-9 1] 38.5
39.0
.01 38.0 - 38.5 -
T T T T T T T T T 38.5 A T T T
585 590 595 670 675 680 740 745 750 805 810 815



m=885, FV0=0 m=935, FV0=0

41.0 - —-— MW —— MW
40.5 41.0
40.0 -
29,5 40.5 -
39.0 -
40.0 -
38.5 -
38.0 - 39.5
T T T T T T
885 890 895 935 940 945



hour

140 -
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P3-9

B8] | GEBRRTIC (7)) | El= (BH/EK) | XS TR

07:45 294 150.0 (Z=| {Ri&e07:45 Bl (RAMERESE)
07:55 294 150.0 (£ Z=| {Ri&e07:55 B&E1 (GRAfRESE)
09:30 294 150.0 (Z=| {Ri%009:30 BE1 (KRR
10:45 294 150.0 |Z=| 1{RiZ@10:45 Bzl CGREAEESE)
11:55 294 150. 0 5| {Ri%e11:55 Ba) (REERESE)
12:45 294 150. 0 5| 1Ri%e12:45 B (REERER)
13:40 294 150. 0 5| 1Ri%e13:40 B CGREMEREE)
14:35 294 150.0 | Rige14:35 B (GREfREEE)
15:25 294 150.0 5| RiRe15:25 Bz CGRAERHSE)
2it]2646.0 (9%) 1350. 0 #2i3#KEC: 2080.0, PH: 6.0

FEREHERE STEELRF (191.0

2RI\ EPRERE150. 0 ml.

# 8] /KECZE (2660. 0 vs 3655.0) RS

150.0), FAIEEHT—@E XAH5

FEREEBEC (2660.0) 5i&EEC (2000.0) RERKX, BH/E




FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

P3-9_0, Day=45 (2025-05-17)

LR S i it
1\7/(;0 VBP¥ERY, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET L 2000

1528 -
100 A - 1500

209 1100 1209, ©

50 A =
L

152 Warning: lcol ['FVI',| "FVO'] missing 118

(¢
200 -

150

100 A

50 A

1.0

0.8 A

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

i 3000
Bylnit @47 16:05: ET=1594 Fg=2100.0 Ro=574.0 +

® L 2000
®

100 - /-/f = - 1000
1
1
I
1
6

cumET (ml/plant)

——& @ © b d
- U - W - Lo

3007 01 1121 3] 415 ] 6] 7 ]88 [oJw0]0[i12]B][14]T15
H 125|252 B [ B [ | KB | kK | K| K| B | B |KB|[F[F|[KF[RF|[K|K|K|K|K|B

200 4 ByEt @45 19:09: ET=1220 Fg=1176.0 Ro=nan

—_
~
—_
o0}
—_
©
N
o
N
N
N
N
w
T
[ =}
[=]
o
o

- 2000

100 - - 1000

T
[ =]
o
o
o

309 0 ] 1 2 | 3 [ a5 6] 78] 9o JoJit[12]@[14]15[16 [ 17 [ 18] 19207212723
B IZZ|25 |27 (27| B | B |27 (2227 |%2x| B [BE [ BF | B | B [BF [ BF | M6 | B [ R [ BF | B | B

]
200 4 ByWoFv @D47 16:05: ET=1061 Fg=1350.0 Ro=324.0 ! L 9000
]

100 - I 4 - 1000

ET (ml/hr/plant)

0.6

0.4+

0.2~

1600

—_— 4
[ ] | _obs

1000 —@— PPFD_obs

500 -

RH
404 @ RH_obs
(] RHo_obs

cumET (ml/plant)

cumET (ml/plant)



44

42 -

40 -

38 A

36

34

32 -

560 660 760 860 960
m=675,n FV0=0

40.0

39. 5 A

39.0

38.5

38.0

37.5

—o— M_E

o

6%6 6;8 GéO 6é2
m=925,n FV0=0

44

43

42 -

41 -

—o— M_E

ﬂ

925 930 935

m=610,m FV0=0

40.0

39.5 A

39. 0 -

38.5 -

38.0

37.5 A

-o— MW

610 615 620

34.

33.

33.

32.

41.

40.

40.

39.

39.

38.

38.

40. 5 A

40.0 A

39.5 -

39.0 -

38.5 -

38.0 -

m=495, FV0=0

T T
500 505

m=745,m FV0=0

750 755
m
760 860
m=675,n FV0=0

678 680

m=545, FV0=0
38 A
—&— ME
37 A
36 A
35 A
5&5 5%0 5%5
m=805,n FV0=0
42.0 - - M_E
41.5 A
41.0 -
40. 5 A
40. 0 +
39.5 -
39.0 +
865 8i0 8%5
m=495,n FV0=0
—o— MW
38 -
37 A
36
465 560 565
m=745,n FV0=0

40.5 -

40.0

39.5 A

39.0 -

38.5 -

38.0

-— MW

w

745 750 755

39.0 A

38.5 A

38.0 -

37.5 4

37.0 -

36. 5

36. 0 -

43 A

42 A

41 -

40 -

40.0 A

39.5 -

39. 0 -

38.5 A

38.0 -

37.5 -

40.5 A

40.0 A

39.5 -

39.0 -

38.5 -

m=610, FV0=0
—— ME
6%0 6%5 6é0
m=865,m FV0=0
:7»
8é5 8%0 8;5
m=545m FV0=0
—-— MW
5&5 550 555
m=805,m FVO=0
A/Q
865 8%0 8%5




m=865, FV0=0 m=925, FV0=0

41.0- —-— MW 41.0 + - MW
40. 5 | 40. 5 1
40. 0 1 40. 0
39.5 39. 5 -
39.0
39.0 +
38.5 -
T T T 38.5 T T T
865 870 875 925 930 935
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P3-9

BrE) | GEBAK (3 | ERE (EH/R) (XS R

07:15 300 150.0 RS {Ri%e07:15 Bz (RAMEHSE)
07:20 300 150.0 B {Rige07:20 Bz (RAERSE)
09:05 300 150.0 [Z=| 1BRi8@09:05 Bzh (KREEREE)
10:10 300 150.0 & =| 1Ri%e10:10 Bzh (RAEEE)
11:05 300 150.0 & =| 1Ri%e11:05 Bzh (RAHERESE)
11:45 300 150.0 (& =| 1BRige11:45 Bzh (REERESE)
12:25 300 150.0 | =| 1Rige12:25 Bz (RBEREE)
13:05 300 150.0 (& =| 1BRiB@13:05 Bzh (REERESE)
13:45 300 150.0 | =| 1Ri%e13:45 Bz (kAEREEE)
14:30 300 150.0 & =| 1Ri%e14:30 Bz (RAHEREE)
15:20 300 150.0 (Z=| 1Ri%@15:20 Bz (REERSE)
23+13300.0 (117%) 1650. 0 3 3HKEC: 2080.0, PH: 6.0

HERRHEME STEAERTS (195.0 : 153.0), AIgEMAF—RE XAH45
BRIASEPRERE153. 0 ml.

BEREBIEC (2660.0) 5i¥TEEC (2000.0) HEILKA, BFHE
#[EKECE (2660.0 vs 3635.0) 1R



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-9_0, Day=44 (2025-05-16)

150 A

100 A

50

100 A

VI, VO PRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

1600
328

"FVO' ] missing

Warning: lcol ['FVI’,

152

- 2000

- 1000

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

Bylnit @47 16:05: ET=1529 Fg=1950.0 Ro=489.0

0
400 T

0 1 2 3 4 5 6 7 8 9

10

11

- 2000

- 1000

12 13

17

XN EZNEZS BB | s | B | s | B8

E3
B

ES
5]

= E3
B B B 5] B

E3
B

300

200

100 -

ByEt @44 19:10: ET=1394 Fg=1500. 0 Ro=nan

- 2000

- 1000

0
400 T

0 1 2 3 4 5 6 7 8 9

10

—_
N
—_

19

21

22

23

XN EZNEZS BB | KB | KB |Z=

%=

W
M|«

A

IINFR

K

A

300

200

100 -

ByWoFv @D47 16:05: ET=1189 Fg=1650.0 Ro=417.0

1.0

10

- 2000

- 1000

12 13 1 15

18

19

20

21

22

23

0.8

FH | PA

EZNE-

EXNEZS %=

%=

A

PG

IINFR

K

A

0.6

0.4+

0.2~

0.0

1000

500 -

| _obs
—@— PPFD obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)

ol N

40 ~

RH
RH_obs
RHo _obs

3 1

VPD




39.

39.

38.

38.

37.

37.

36.

35.

34.

34.

34.

38.

37.

37.

36.

36.

35.

40 -

38 -

36

34 A

32 A

T T T
600 800 1000

m=635,m FV0=0

—o— M_E

6&0 6&5
m=845,n FV0=0

850 865
m=465,n FV0=0

845

1 == MW

il
i

465 470 475

33.

33.

32.

32.

31.

40.

39.

39.

38.

38.

37.

37.

36.

36.

35.

35.

34.

39.

39.

38.

38.

m=465, FV0=0

M_E

4%0 4;5
m=690,n FV0=0

T T
690 695 700

m=890,m FV0=0

—&— ME

865 960
m=515,n FV0=0

890

-o— MW

515 520 525

38.

37.

37.

37.

37.

36.

38.

37.

37.

36.

36.

35.

35.

40.

39.

39.

38.

38.

37.

m=515, FV0=0

37 A

36

35 A

34 -

M_E

5&0 5é5
m=745,n FV0=0

7éO 7%5
m=960,n FV0=0

965 9%0
m=580,n FV0=0

4/Q

m=580, FV0=0

38.

38.

37.

37.

36.

36.

35.

- ME

5é5 5é0
m=800,n FV0=0

T
580

35.

35.

35.

35.

—o— ME

T T
800 805 810

41 -

40 A

39 -

38

37 A

36

35 A

—— MW

600 800 1000

m=639,m FV0=0

40.0 A

39.5 A

39.0 -

38.5 -

38.0 -

- MW

635 640 645



40.

39.

39.

38.

38.

37.

41,

41.

40.

40.

39.

39.

m=690, FV0=0

—— MW

690

T T
695 700

m=890,m FV0=0

—— MW

890

T
895 900

40.

39.

39.

38.

38.

37.

41.

40.

40.

39.

39.

38.

m=745, FV0=0

—0—

MW

745

T T
750 755

m=960,m FV0=0

—0—

M_W

960

965 970

40.

40.

39.

39.

38.

38.

37.

m=800, FV0=0

—0—

MW

800

T
805 810

m=845, FV0=0

41.0 A

40. 5 A

40.0 A

39.5 A

39.0 A

38.5 A

——

M_W

845

T
850 855
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P3-9

BjiE) | BRI (F)) | EHME (BAH/K) | XS ERE

07:05 294 150.0 |Z=| 1BRi%e07:05 Bzh (REERESE)
07:10 294 150.0 (% =| {Ri%@07:10 Bz (REERSE)
08:05 294 150.0 [ =| {Ri%e08:05 B (REAERESE)
09:25 294 150.0 FA| 1Ri%e09:25 Bzh (kAEESE)
10:20 294 150.0 El BRi%010:20 Bz CGRAEREE)
11:05 294 150.0 =l {Rige11:05 B3 (RAERSE)
12:05 294 150.0 S {Rige12:05 B3 (RAERSE)
12:50 294 150. 0 E| {Rig012:50 B3h (RE{ERSE)
13:40 294 150.0 E BRige13:40 Bz CGRAERSE)
14:25 294 150.0 | Ri%e14:25 B (REAERESE)
15:05 294 150.0 E BRige15:05 Bz (GRAERERE)
15:55 294 150.0 F BRige15:55 Bz (GRAERE)
24t 3528.0 (12)%) 1800. 0 32 KEC: 2080.0, PH: 6.0

FEREHLEM 8 STHAEARSF (195.0 : 156.0), AIAEAMT—@E XAFHE
ZRIASEPRERE156.0 ml.

large discrepency for begining water status (318:114.0), set to 318 ml.
REXEEBIEC (2715.0) 5iZTEEC (2000.0) REKR K, HHRE

BEEIRECE (2715.0 vs 3725.0)fRe



FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

P3-9_0, Day=43 (2025-05-15)

R S i it talal
VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2113 | 000

100 A

955
- 1000
50 730 759

66 Warning: lcol [FVI',| "FVO’'] missing 116

( o v
200 ~ FRV

100 A

1.0

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

0.0

3000
400 4 Bylnit @47 16:06: ET=1461 Fg=1974.0 Ro=402.0 t

- 2000

300 -

200 -
- 1000

100 -

PN
i 71 31 215161 7 18l o9 T0] 11 li2]13 1 [mBli6] 1711817191212 |22/ 230000

w00 { W | & | | W% | | % | % (Bnlza| W | | w | % | w | w % ww % w w6 ®]®

300 4 ByEt @D43 18:59: ET=1699 Fg=1692. 0 Ro=nan I - 2000

200 -
- 1000

100 -

5161 7181 9 1011 12113 ] 141157167 171819720121 22 23 [ 2000
W B B B B BB B[2=2= W | BB B BB B[ BB [6B[6 5= 0 5=

300 4 ByWoFv @D47 16:06: ET=1297 Fg=1800.0 Ro=408.0 I - 2000

200 -

ET (ml/hr/plant)

100 -

1
1 - 1000
1
1

10 [ 111213141617 [18 192 2122723
PR B | B |5 [BF | B |5 |5 [BR | B | B [B=[ZZ| M |5

w
N
(S}
»
~
o0}
©

p—O
1.0-‘T‘
i

e
I
o
I
w
NI
W
NI

0.8

0.6

0.4+

0.2~

0.0
1500 A

—_— 4
[ ] | _obs
—@— PPFD obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



40.

37.

35.

32.

30.

27.

25.

30.

30.

30.

30.

29.

29.

29.

35

35

34

34

M_E

T T
800 1000

m=635,m FV0=0

T
600

75 A

50 A

25 -

00 ~

75 -

50 A

25 A

—0— ME

6&0 6&5
m=845,n FV0=0

.51

.0+

.9

.0+

845 850 855

40 -

38 -

36

34 A

32 -

-— MW

23
\

600 800 1000

m=495, FV0=0
25. 30 A - M_E
25. 28 A
25. 26 A
25. 24 A
25. 22 A
25. 20 A
T T T
495 500 505
m=675,m FV0=0
32.51+ —@— ME
32.0 A
31.5 4
31.0 A
30. 5 A
T T T
675 680 685
m=885,m FV0=0
—o— ME
37.0 A
36. 5
36. 0
35.5 A
35.0 A
885 890 895
m=495,m FV0=0
—o— MW
34.5 A
34.0 A
33.5 4
33.0 A
32.5 A
32.0 A
495 500 505

m=535, FV0=0

27.

27.

26.

26.

25.

25.

M_E

5é0 5é5
m=735,n FV0=0

34.5

34.0 -

33.

33.

32.

32.

7&0 7&5
m=940,n FV0=0

38.

37.

37.

36.

36.

35.

940 945 950

m=555,m FV0=0

36. 5

36.

35.

35.

34.5

34.0

33.

-— MW

555 560 565

29.

29.

28.

28.

35.

34.

34.

33.

33.

38

37

37

36

36

35

m=590, FV0=0

57 —e— ME
0 .
5 .
0 .
T T T
590 595 600
m=790,m FV0=0
0l —e— ME
5 .
0 .
5 .
0 T T
790 795 800
m=995,m FV0=0
40
- ME
39 -
38 -
37
995 1000 1005
m=590,m FV0=0
.0+ —-@— MW
.9
.0+
.9
.0+
.54 T T T
590 595 600




m=635, FV0=0 m=675, FVO0=0
39.0 39.5
—0— MW —0— MW
38.5 39.0 +
38.0 38 5 4
37.5
38.0
37.0 +
37.5
T T T T T T
635 640 645 675 680 685
m=845,m FV0=0 m=885,m FV0=0
40. 0 o MW 40. 5 - —-@— MW
39.5
40. 0
39.0
39.5 +
38.5
39.0
38.0
38.5 A
37.5
T T T T
845 850 855 885 890 895

39.

39.

38.

38.

37.

37.

40.

40.

39.

39.

38.

38.

m=735, FV0=0

—0—

MW

T
735

T T
740 745

m=940,m FV0=0

—0—

M_Ww

T
940

945 950

m=790, FV0=0

39.5 4

39.0 A

38.5 A

38.0 A

37.5 4

37.0 A

—— MW

T
790

T T
795 800

m=995,m FV0=0

41.0

40. 5 A

40.0 A

39.5 A

39.0 A

38.5

—— MW

T
995

T
1000

T
1005




